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Demo sharing

2(a)Assess whether all market economies should become mixed economies. [12]

1. template

a)
b)

C)
d)
2. outline
a)
b)
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definition: market economy, mixed economy, nationalization
explanation

i. strength of mixed economy : correct market failure;

economic growth; improve local people’s living
standard

ii. weakness of mixed economy: inefficiency of
producers; consumers only have limited choice ;

. Sample

a) definition

I. A market economy is an economic system that
allocates resources through market mechanisms. (1)
ii. A mixed economy is an economic system that

allocates resources through both market mechanisms
and government intervention. (1)

ii. When a market economy transitions into a mixed

economy, certain resources shift to the government,
resulting in nationalization.

b) explanation

i. There are many strengths in mixed economies

compared to market economies. Market economy musi
face market failures, like pollution, the absence of
public goods, and the overconsumption of demerit
goods. In a mixed economy, the public sector plays an
important role in solving market failures through
methods such as taxation, subsidies, and direct
provision.

ii. Moreover, the government in a mixed economy can

control the price of essential goods to stimulate
economic growth and improve the living standards of
local residents. For instance, the government can



directly provide electricity at a lower cost, benefiting
factories through reduced energy expenses, and
citizens through lower living costs. This approach also
reduce of income inequality by helping the poor.

lii. However, there are several weaknesses in mixed

economies. Government intervention can result in
inefhiciencies among producers. Subsidies and
nationalization may remove competition among
producers, leading firms to become dependent on
these forms of assistance. Besides, consumers may
experience a limited choice of products. Moreover, the
government's shift towards a mixed economy
necessitates increased tax revenue. It is essential to
for government to consider if it is beneficial to use tax
revenue on nationalization or education and
healthcare.

c) evaluation

I. So if it is a low=income country, the low cost for firms

to produce and people to live is important for economic
growth and development. Government should take
actions to correct market failure and create more
capital goods. But if it is a high-income country, the
government can step back a bit to let the market
mechanism make effect because the opportunity cost is
higher than benefit.



® A falling death rate is affecting the size of China's population, which
in turn is influencing demand for a range of products including table

salt. The Chinese Government has recently considered ending the ® Price can be lower in the monopoly market if the monopoly enjoys economies of

. scale. As the monopoly expands its scale of production, it is able to enjoy
state salt monopoly. An online survey, however, revealed that most purchasing economies of scale, eg. Purchase raw material at lower prices due to

Chinese people oppose introducing more competition into the bulk buying; etc, Average cost will be lower for monopoly than for a perfectly
competitive firm, Because perfect competition is unable to enjoy economies of

scale due to relatively smaller scale,

® (c) Analyse why price can be lower in a monopoly market than in @ Prices can also be lower if the monopoly is subsidized. For example, if the
monopoly is a a state owned enterprises, the firm can provide lower prices due
to reduced cost. perfect competition may result in wasteful duplication of capital
equipment, while for a monopoly, it is the only producer in the market, it can

® Economies of scale avoid duplication and waste, thus reduce average cost,

market, thinking it will cause the price of salt to rise.

perfect competition.(6)

® A state monopoly may not be trying to maximise profit because the objective
may be to promote economic welfare ensuring products it produces are
affordable, Eg. Electricity, water, So it may keep prices low,

® Avoids duplication of captial equipment
® May be subsidied by government

@® The firm’s objective is to promote economic welfare



Section B

3. Trade union membership is much higher in Sweden than most countries. In 2019, 70% of Swedish workers were
members of a trade union. More than 85% of Swedish workers are employed in the tertiary sector, compared with only 2%
in the primary sector. Swedish workers spend their incomes on a variety of products some of which, e.g. sweets, are
demerit goods. Sweden has the 7 highest per head consumption of sweets in the world.

[a] Identify two influences on what products a person buys. (2]
[b] Identify two ways a government could decrease the consumption of demerit goods. (4]
[c] Analyse why workers may join a trade union. 6]
[d] Discuss whether or not tertiary sector workers are paid more than primary sector workers. 8]

3. Trade union membership is much higher in Sweden than most countries. In 2019, 70% of Swedish workers were
members of a trade union. More than 85% of Swedish workers are employed in the tertiary sector, compared with only 2%
in the primary sector. Swedish workers spend their incomes on a variety of products some of which, e.g. sweets, are

demerit goods. Sweden has the 7" highest per head consumption of sweets in the world.

[a] Identify two influences on what products a person buys. [2] Two frome.q.:
* Price [1] = Income [1] = Tastes / Habit / Culture [1] = =
Advertising [1] = Availability [1]
« Social Media / Influencers [1] = Quality [1]
» Government Regulations / Laws [1] = Age [1]

[b] Identify two ways a government could decrease the [4] 1 mark for each way & 1 mark for each explanation.
consumption of demerit goods. « (i) Impose an (indirect) tax / tariff on goods [1]
= raise the price [1)]
« (i) Provide information [1]
= about harmful effects [1]
« (i) Ban/regulate [1]
= 10 stop or reduce availability of product [1]
* (iv) Set minimum price above market price [1)
= raise prices [1)]
* (V) Import quota [1]
= restricts availability for purchase [1]




3. Trade union membership is much higher in Sweden than most countries. In 2019, 70% of Swedish workers were
members of a trade union. More than 85% of Swedish workers are employed in the tertiary sector, compared with only 2%
in the primary sector. Swedish workers spend their incomes on a variety of products some of which, e.qg. sweets, are

demerit goods. Sweden has the 7 highest per head consumption of sweets in the world.

[c] Analyse why workers may join a trade union. [6] A coherent answer covering some of the following:
Understand the role of trade unions [1]
« (i) greater bargaining power [1]
through industrial action [1)
« (ii) to negotiate with employers for [1]
(a) higher wages [1]
(b) better working conditions [1]
(c) fringe benefits [1]
Understand the concept of representation (1)
« (i) Representing employees during dispute [1)]
[1] each for e.g., protecting rights, unfair dismissal /
discrimination, job security, compensation for work injury
« (i) Greater influence on government [1)

[1] each for e.qg., national minimum wage, more job opportunities
« (ili) Union services to employees [1)]

[1] each for e.g., training, health & safety, advice, other benefits




Section B

3. Trade union membership is much higher in Sweden than most countries. In 2019, 70% of Swedish workers were
members of a trade union. More than 85% of Swedish workers are employed in the tertiary sector, compared with only 2%
in the primary sector. Swedish workers spend their incomes on a variety of products some of which, e.g. sweets, are
demerit goods. Sweden has the 7" highest per head consumption of sweets in the world.

[d] Discuss whether or not tertiary sector workers [8] Reasoned discussion of both sides of the argument; both

are paid more than primary sector workers. sides need to be considered and developed; while reaching
a conclusion, the possible uncertainties of the alternative
also need to be addressed.
Why they might be:

More skilled / qualified

More productive

Tertiary products may have higher value added

Higher demand for tertiary products = higher wage level

Why they might not be:

Less likely to be part of a trade union

Lower experience level

Lower paid types of tertiary sector jobs

Higher demand for certain types of primary sector jobs
Lower supply for certain types of primary sector jobs
Higher demand for certain primary sector products

Declining tertiary sector firms / occupations .



a) Analyse, using a production possibility curve (PPC), the opportunity
cost to an economy of producing more consumer goods. [6]
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22 [a] 5
® Opportunity cost is the (next) best alternative forgone (1)
resources used to produce consumer goods cannot be used to

produce capital goods (1).
® Producing more consumer goods now may mean fewer consumer
goods in the future (1) as there may be fewer capital goods to

make them (1).

6060 7000 consumer
gooas



Discuss whether a government should provide
subsidies to families to spend on housing.

#%21#: subsidies
BTG, o iA]: subsidies, housing
Msubsidies v 5] 52 (R A0 G 15 N 2845 frhousing. Housinglf4F1E /& : necessity.

Why it might:

* will increase the spending power of families who receive it

* may increase quantity supplied

* may give low-income families access to a basic necessity, reducing poverty

* may enable families to spend more on e.g. education

* may increase employment / reduce unemployment, creating jobs building housing
/ increase labour mobility

* may increase quality of housing and so improve health

Why it might not:

* rich can already afford housing

* some families may not spend it on housing

* may be inflationary, demand increasing for housing and e.g. furniture, carpets
 opportunity cost

 taxes may be raised to finance subsidy

* building more houses may result in environmental damage



Subsidies are a form of financial assistance given by the government in order to
encourage the consumption of a public/merit good or improve the general welfare
of the people. Providinb subsidies to families for housing makes this basic
necessity more accessible, which will likely lead to an increase in the standards
of living and reduce poverty. Moreover, siubsidies on housing may encourage
immigration and may attract more skilled labour into the country, increasing the
country’s output. Additionally, thi# can enable families to spend more on
education. This can raise the skills and qualifications of their children which can
increase their chances of employment

However, an increase in subsidies involves an opportunity cost in government
spending, as the money may be better spent on education or the government
directly investing in housing stocks. The subsidy may Ialso be too small to make
a difference as housing is a relatively large cost. Subsidies may also go |to
families that do not need it, such as those who are rich and already own
multiple houses, which would not make a difference in relative poverty.
Increased housirlg would also increase noise pollution from construction and
would cause habitat destruction which are negative externalities.



5 . Subsidising houses could reduce the rate of homelessness for
families and increase the standard of living since houses are a
necessity. Subsidising a home for a family means the family does not
have to spend a large proportion of their income on housing. So,

savings of families could go up and consumers could spend more on
other goods.-i% 15 4|t

i-however”i 4% 1/ySubsidising a house may not be enough as house
prices may be too expensive, causing the family to still not afford a
house. The government may not have adequate funds to provide a

subsidy to all poor families and so some families may be left out in the
process.

Answers which achieved Level 2 explained some of the points
made but either lacked depth, or less frequently, were one-sided.
Example of an L2 answer



